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PART -1/ wm - |

Directions 1.2,
Choose the word which best expresses the

“"*“"“"r" of the lll'ld(’l'lilh‘d word in 1‘.1[']1 of the

following sentences.

L. Many species of animals have become
extingt dlll'il‘l?‘_ the last hundred vears.
(1) non-existent
(2)  feeble
J3)  aggressive
(4) scattered
2. The ascending temperatures in many parts

of the world have become a cause of
concern for the environmentalists.

(1)  expanding
() rising

(3) falling

[# shooting

Directions 3-4:

From each group of words choose the one which
can be substituted for the given definition.

3. A small shop that sells fashionable clothes,
cosmetics etc.

(1) Store
(2) Booth

\/(ZjStaJJ

(4) Boutique

] )} » 0 1L Ve []L
iriy l' (lale or at b
\.f‘{ I Lt‘h'l lu!lif ni l d " l

(1)  Birthday
(2) Centenary

X

9 Anniversary

Directions 5-6:

Jubilee

: presses the
Choose the option which best express¢ t

meaning of each underlined idiom/ phrasc

5. When he was interrogated by the police
officer, he looked blank.
(1)  had no energy
l(}/ grew pale
(3) was furious

(4) - showed no feeling or understanding

6. I'can’t make head or tail of your story.
(1) agreeto
A2

(3)  see the beginning or end of

make out anything
(4) appreciate

Directions 7- 8 ;

In each of the following groups of words only

one word is correctly spelt. Identify the correct
one.

Mathematics
(2) Mathemetics
®) Mathamatics
Mathametics
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AT T tllh"-“‘li f

2 e audenac
8. (1)  Liutenant 12 I'h wl 55
(2) Licutimant (1) ;
~3) L utenant |
toy be o its seats by W pom

(4) | cutenant

/'wl (1)

-

Directions 9-10:

( omplete eac h sentence with the .u;vprr'l‘”"t'

word chosen from the given alternatives 3. Please put away / the candle /
] (2)
9. carefulness could have saved
L . . before you / leave the room
the situation. :
(1) Less () (4)
(2) Alittle
(3) Little
(9 Tl Directions 14 - 15 :
10.  Youmustsecureatleast marks. | Choose the word which is closest to the opposite
(1) full meaning of the underlined word in each sentence.
(2) passable
A3)~ passing
() pass 14. This offer will prove a great boon to me.
Directions 11 -13: (1) trouble

Each of the following sentences has been divided
into four parts viz (1), (2), (3), (4). There is an
error in one of these parts. Identify the part which _(3) blemish
has the error.

J2 misfortune

(4) curse

11. The aim of this unit /

@
15. He exhibited a comprehensive approach
is to first read through /
) towards the matter in hand.
y fici
the story in one go/ (1) superficial
) (2) slipshod
jOt worrying about difficult words. () vague
4
@ \# exhausting
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16. "N U U A 7 v e w9 T
ﬁﬁ;*mmmﬁmmmﬂa

1)
)
3
@)

A
TR

g
ferda

2wt TR T

21.

PN
@
@)
4

& i 4

Freferfi famredi 8 @ #-8 foFed Tl T

17. :H%@aﬁﬁ'aa’%mmmﬁm S &2
UEEM i ;
e (1) ey
1
i ) emyfd
2 s
S v <\l
@ @) @fyfa
W 22, feuwTu o H 9 U 91 AYG © | W 9
18. Wﬁﬂﬁ%a@-ﬂ*—rmaﬁw e i
@ (1) faw 758 @ar 3 €
"@ i (2) THY T TSH &
@ @ @) Fod G AT T
g R gy e g
2 T O T F e Preiffag | 23 9 9 A a0l S EAM S w R ? FreAfafaa,
1 ;T;ﬁﬁ-@ﬁm: faeredl & § W@t forhey it e i :
1) ST ' (1) S+4
@ = 2 w+d
: o @ e B
@ ™ 4 S+3
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28, ‘¥ F Hu-faed Freifrfa famed #
ﬁfwﬁﬁ“ﬁﬁﬂn‘&ﬁm@w: } 9ff :
1) aduA
o 1) <HF+T=B
) 3l aduE
o Tt = @ fem+z=
@) dfey TdEE @) T+
25. frefafas 8 '’ = ¥ Sifsn w9 &t A e+ T
TgaH &I :
(1) 9T
29. ‘T’ Wi ¥ wgEar A e g ¥ ST R
B i o e T 21 T fawen @ et
@) A IV :
(4) geaRfoR )
26. T TN’ R 1 avef Frfefia fohedi @ T
3 gfr :
(3) et
) s gfgam
() §EgEFH I’ 4) Fom
Jy TOEHAE A &
@) 9fs F ¥E T FHE
30, e feu e faeai d @ fow fowen & ‘s’
T TE ST R ? SHeht UEEH HH :
27. ‘v’ we ¥ faqdande st A= fau e ferehedl
¥ 9 gf (1) =g
(1) fauer
() e
N 38
@) foem S ™
)¢ & (4 feamn
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T i (. i =

-1

3. Frefefan 4 2 fam 2w 3 it eiven feared
WO fewhe It fayy 2

1) =4
A2  H T amfem

(B) faem

4) wA=1

32, fova ¥ %t ue TeliTam R & srqur weifos
TS @A ¥

)
2 =A4d
@) wfeam §
4) wireew

gd |

33, Yu-3iiifys @d (2016) # WRd & fau wem
wUiee St aren faarst & o@?

(1) <1 HTHEH
() = fig Wit

A e
@) o wfe

31

32.

33.

PART - 11

Which of the following countries issued a
commemorative postal stamp on the

occasion of Indian festival, Diwali ?

(1) Russia
(2) USA
(3) Britain
(4) Canada

According to a latest World Bank report,
maximum number of poor people live in :

(1) India
(2) China
(3) Pakistan

(4) Bangladesh

Who of the following atheletes won the first
gold medal for India at the Paraolympic
games 2016 ?

(1) Deepa Karmakar
(2) Varun Singh Bhati
(3) Mariyapan Tangavelu

(4) Deepa Malik
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34, anft aw a1 SEm ° maEifiy sisifirs qz# | 34.  Whichathelete has won the highest number

gra w0 aren faerd w9 8 of Olympic medals in his lifetime so far ?
(1) FEE (1) lrabaruta
@) A (2)  Usain Bolt
%) ghdl B (3) Michael Phelps
(4) e fefem () Justin Gatlin

35, YRE & T80 Wd fad a wamn 9 € . 35. National Sports Day of India is celebrated

on:
e 29 (1) August29
(2 fegs27 (2) December 27
\,e) faaR29 | (3) September 29
(4) wE27 (4) May 27

~ 36. 3 M.ud. 2016 § oot i 3u-fasian ® | 36.  Who were the winners and runners up

q7? respectively in IPL 2016 ?
1) wrEsd - aa Seed SR (1) Sunrisers - Royal Challengers
Hyderabad Bangalore
) TN _ Y g (2) Rajasthan - Chennai
. Royals Superkings
ﬁ s dein -t i A (3) Mumbai - Royal Challengers
- Indians Bangalore
@) FoFEm - Y e JoE (4) Kolkata - Kings XI Punjab
— Knight Riders
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37. '
ﬁt'fﬂ‘ba'a LE: ) mfg mif @7 7@ ¥ | 37 Who among the following did not get
2016 # 31 g3 5 Rajiv Gandhi Khel Ratna 2016 award ?
() <M (1)  Jitu Rai
@) W fiiy () PV Sindhu
(3)  eft wfers (3)  Sakshi Malik
M) T fer (4)  Gurpreet Singh
38. ] T Aoy frop (2016) % 3rqam fava % | 38.  India ranks among the world’s
g o M wRa WHE wealthiest countries according to New
World Wealth Report (2016).
(1) Tmar (1) tenth
v(&) SIGE ] (2) seventh
(3) sraal (3)  twentieth
4) gl (4) fifteenth
39. TRt ST 2016 %1 AW Ue el el WA | 39, Who is the first Indian to be crowned
FAR? Mr. World - 2016 ?
1) Ufea Geea (1)  Rohit Khandelwal
() TAHLTE §y (2) HPS.Sandhu
2 R, T (3) R Rajagopal
@) = = (4) Neeraj Chopra
40. WHO & g1 2016 § ATeida & o1 TR &1 | 40.  After Maldives another Asian country,
Ry HaAran Y 291 wifta foan ?: has been declared malaria - free
nation by WHO in 2016.
1) o fraam (1) North Vietnam
2 e (2) Laos
@) wEfem (3) Cambodia
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41. oo 3 & O o ¥ v v 8o 41. What is not true about Kiran Bedi ?
(1) feeett faum |y 14 w2 3f saEa (1) Unsuccessfully contested Delhi
T Assembly elections
) LRI R [ERES! 5] (2) Was appointed Governor of
Puducherry
@) YR gferd da § afumm of (3) Was an IPS officer
: M TS Fa & A W T g g (4) Awarded Ramon Megasaysay
fra Award for Public Services
42, 2015 H fqum AW & A g Y . 42. Elections to the state assembly of
were held in 2015.
W) ST Yo (1)  Arunachal Pradesh
() Tafsm (2) Sikkim
@) AT (3) Telengana
@) foeett (4)  Delhi
43. & A URA F fFE T M @I A 22 | 43, To which state of India does Sakshi Malik
belong ?
(1) ¥R (1) Maharashtra
(2) Y= (2 Punjab
B =@ (3) Haryana
4) Tewma . (4) Himachal
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4. T vy

i i is the venue for
FAF for f‘:::q “;?;; m m “ grd:gt:a(:ncfe::iuoc: osrt\a tI‘:rawasi Bharatiya
¢ Diwas 2017 ?
(1)  Toreym (1) Rajasthan
(2 SWyy (2) Uttar Pradesh
B) SwEe (3) Uttarakhand
J&;’ Ftew (4) Karnataka
45. 2015 ¥ fdw @ g o WE FA A ga@ 931 | 45.  In 2015 which country was the largest
W FH 12 recipient of overseas remittances ?
1) wRa (1) India
(2 AfFs (2) Mexico
(3) dUrie (3) Poland
| JA‘I = (4)  China
46. Frafafed & | FF-a1 w389 e F . | g6, Which of the following statements correctly
o hE ®? describes Usain Bolt ?
(1) ¥ % Feara 30 & 9 (1)  the crown jewel of Spainish football
team
(2 fava =1 g8 9 ga= (2)  the fastest bowler of the world
B3y TR O uE (3)  the fastest sprinter
4) WaTFHw B faeret (4)  the best hockey player
47. U Y 2016 Feara ARG R M2 [ 47 Who won Euro Cup 2016 football
championship ?
(1) W™ (1) France
@ ®F () Spain
S8 s () Germany
(4) Yo (4) Portugal
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48, 1w AT 2016 ¥ Amam 2w wieha A | 48, In 2016 Summer Olympics the host country
_ wmwEE e Brazilwon ol medals.
1) 6 1 6
@ 7 @ 7
@) 8 @) 8
5 4 5
49, Wifeca ¥ feT 2016 1 Aot [EFR &iia 87 | 49.  The Nobel Prize for Literature for 2016 has
AR TN E LA been announced to be awarded to Bob
Dylon who is a famous :
(1) FwsiE (1) Proletariat
2) wrEIfeR (2)  Linguist
S e (3) Lyricist
(4) R (4) Litterateur
50. foii fe S drsrenredt ofieifuen @t omeifs@ | 50.  Rio de Janeiro is the South
& el Sfaqo st wee R American city to host the Summer Olympic
Games.
1) e (1) fourth
(2) e (2) first
\pf Sl (3) second
(4) drew (4)  third
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51. ¥ @ 7 O wfrg vicda afeen faerd B

52. frefafas vl § @ a2 @ e =3
e 100% e got & v @ g &2

‘/(»I’) fafern
(2) TR
(3) @
@) femraa ww
53. SeSdUA49H A T4l # fawg
I i :
1) 29TH
v
(B) 27 TH

26 4

@) 28T

54, Ufagd W I HAU R

51.

52.

53.

A star sportswoman of India has recently
been appointed a member of the
International Olympic Committee’s
Athletes Commission. Her name is :

(1) Sakshi Malik
(2) Sania Mirza
(3) Saina Nehwal
(4) PVSindhu

Which of the following states was the first
one to declare that 100% of its villages are
open - defecation free ?

(1) Sikkim

(2) Gujarat

(3) Haryana

(4) Himachal Pradesh

Donald Trump won in outofa

total of 49.

(1) 29 states
(2) 26 states
(3) 27 states
(4) 28 states

Avian flue is concerned with the :

(1) Fﬂﬂ‘f' 3 (1) reptiles
2 wIEid (2) humans
S LI (3) animals
@4) feid (4) birds
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55, Ywa AR WM, 2016 W@ =g @il % | 55. Ramon Magsaysay Award, 2016 has been
wo-gd A s won, among seven others, by :
(1) Feed et (1)  Nicklas Peterson
2 e (2) Prem Bhatia
(3) e wed (3) Kailash Satyarthi
J” AR Al (4) T.M. Krishna
56. 2016 318 F9 Feara frafafiga & @ s | 56.  Who among the following won the 2016
St ? Durand Cup Football ?
N R Feaie T (1) Neroca FC
) 3w A (2) Army Green
(3) 3nsiiel Feae I (@) Aizawal FC
(4) DsK fernfsra (4) DSK Shivajians
57. i Sl 2016 ® 9T &4 Sl WA gl | 57 Who was captain of Indian Hockey team
A 1 FGH A 917 which took part in Rio Olympics 2016 ?
V;er TH.%. 39 (1) SK Uthappa
\(}/ weR fie (2) Sardar Singh
(3) W3 Ao (3) PR Sreejesh
@) I [T (4) VR Raghunath
58. WIfecd & ferw 2016 1 Aad [ERT f&QugH | 58. The 2016 Nobel Prize for Literature was
e ¥? conferred on
(1) W T (1) Maya Angelou
JD ¥ TEed (2)  Bob Dylan
®3) g ©Eyg (3) Wallace Stevens
(4) EE %fi (4) EE Cummings
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s elected President of BCCI in May
59. 2016 § BCCI &1 apeasy 31 T T ? 59, Who wa

2016 ?
1) T (1) Mukul Mudgal
() 3= fad (2)  Ajay Shirke
3) |Ww T (3) Shashank Manohar
Y ST e (4)  Anurag Thakur

60. & R § IgEIfed YA 1 gl -w.GA. S | 60.  India’s first bio - CNG plant inaugurated

wie e & recently, is located at :
(1) Tan (1) Goa

@/ wera (2) Badodara

@) o (3) Mumbai

@ 9o (4) Pune

61. R S St T foUMH T A Th W@ | 61.  The West Bengal State Assembly has

qiftd o 9fEH ST 1 A FEEshl T @l passed a resolution to change the name of
22 the state from West Bengal to :
(1) oW (1) Bangadesh |
ﬂ qfy=aq &9 (2) Pashchim Banga |
3) Epil (3) Bengal
4) e (4) Bangla
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AR FE § @ gt Foft B

g2, freAfar@d
frerera A faera g0 ol g 2w <hen 99

¢ Freffan # TR A T fadt e A
st T TR ?
1)
g EiLl
(@) e
(4) AR

64, v Fafaw dan wlen 2015 # FreAfafea 9
{ for veel T W TR 2

(1) i e

(2) i wY

(3) ¥R SMR-3A-TH
My et

65. TRy, ¥ aiaa FE v 1 WA F A
fofe e gar@ QA 2

(1) fegsx30,2016
(2 = 31,2016

3~ 9 31, 2016
@) fas=R30,2016

62. Which of the following Telecommunication
companies merged with Reliance to make
it the fourth largest telecom operator in the
country ?

(1) Samsung
(2) Airtel
(3) Aircel
(4) Vodafone

63. Which of the following cities has not been
so far included in the smart city list ?

(1) Namchi
(2) Thane

(3) Patiyala
(4) Jalandhar

64. Who among the following got Rank - 1 in
Indian Civil Services Examinations 2015 ?

(1) Jatin Lal

(2) Jasmit Sandhu

(3) Athar Aamir-ul-Khan
(4) Tina Dabi

65. The last date to declare black money under
the IDS expired on :

(1) December 30, 2016
(2) March 31,2016

(3) July 31,2016

(4) September 30, 2016
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g6. Vijay Rupani was sworn in as the Chief

66. T wEt ) v ¥ e ¥ ¥ A Minister of Gujarat in 2016.
2016 1 wo feemd T
(1) October
(1) = @ Jul
Wiy
2 I .
3 ugust
G s 3) gu
@ fd (4) September
67. fri Yan % R et 41 3 @ weATTd | 67, Indian Army carried out surgical athiki
F) wifwa siem fear? across LOC on the intervening night of
(1) 28 3k 29 fadarw (1) 28 and 29 September
,,(Qf 25 3R 26 faaer (2) 25 and 26 September
(3) 26 3k 27 fada (3) 26 and 27 September
(4) 27 ¥ir 28 fadar (4) 27 and 28 September
68. H. T STARH & 37e78) 7 & fTU S 29 | 68.  Donald Trump was declared elected to the
%1 fraffad sifya foran - post of President of the US on :
(1) TdaX9,2016 (1) Nov.9,2016
(2) a6, 2016 (2) Nov.6,2016
ue{ e 7, 2016 3) Nov.7,2016
,(4)  TES10,2016 (4) Nov.10,2016
69. & s FE faae © !jSﬂ’Fl 1< A Faer | 69, Cauvery water dispute was adjudicated by
g the Supreme Court between :
ﬂ Fited SR Ty (1) Karnataka and Maharashtra
(2) T M Ffew \ (2)  Kerala and Karnataka
3) dftrerrg ;
®) e (3)  Tamil Nadu and Kerala
4)  FH IR dfrerrg
@ (4) Karnataka and Tamj] Nadu
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70.

71.

72

fpm @@ § Tl WFEE I T gew oftm 2

) Fsfriza IR
y%ﬁﬁ?ﬁ?ﬁ(ﬂﬁﬂl)
o) Fe@e FTH

fr & @ S WEw fow W A @ @
FAE?

525130

2 42

jaiss

@ 72

& Al e 1 e H TE A I €,
3G 91 A WE S I ¢ | FP T TART
R gref R g ST ¥1 Wk R TR <t
T Y1 W1 ¢ | 379 =7 fohed fewn o =t
w@e?

(1) W - fv=w
2
©)

S - T
<faron - afyem

e -

71.

72

In which event did Sakshi Malik win the
Silver Medal ?

0]
(2)
)
“)

badminton junior
58 kg wrestling (women)
feather weight swimming

discuss throw (women)

Which of the following numbers completes
the given matrix ?

12
5 25|30
7 149

(1) - 80
42
(3) 56

@ 72

A man starts walking towards East, then
he turns left, after walking some distance
he turns right. Then he turns half-right. In
which direction is he now walking ?

North - West
North - East
South - West

South - East
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The following question contains a pair of
terms on the left side of ( : :) which exhibitg |
a certain relation between them. Find the

73. ﬁqm"ff‘w(;;)%wmﬂﬂ@ 73.
9 o o # form wrew s &) 9%
() ¥ 2rf 3R e e fom §1 qER1 O A

. . N . . . " |
3R ¥ 3 % T SR 9 A term which exhibits similar relation with, |
the term on the right side of (: :).
161:23::98:? 161:23.98:?
1) 24 1) 24
2 7 2 7
21 G 21

®)
'qug// \M 14 4 14
S

X
% 74. 70 J F9-W v st veehS A O | 74 Which of the following words appears first

A TES! ST & 2 in the dictionary ?
?2{ (1) Transportation (1) Transportation
(2) Translation (2) Translation
AB)  Transfusion (3) Transfusion
(4) Transmission (4) Transmission

75. A< Teh %2 W9 H HARD ' 1357 aig SOFT [ 75. If in a certain code language HARD is |

1 2468 foran ST 4 21458 frmar e &2 written as 1357, SOFT is written as 2468
then 21458 would stand for : |
(1) STARS (1) STARS
2) SHOOT () SHOOT
¥ SHORT (3) SHORT
(4) START (4) START
5/Page 18 T T & fery g/ SPACE FOR ROUGH WORK PK] 17-I1
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5 (9_15 25)
2| men — + = T
76. (3+I]H x x2 &
-ﬂqﬁ.x=lmg:

) 140
) 152
) 150

:)9 148

77 @ GENH F HEUH WHIEAE U1 S
e HEY: 10 T2 840 § 1 Afe U T
120 A T FEAT:

Vaf 70
2 50
@) 90
@ 60

78. e mn 99-fa= fr 9 9 form wgEl =01 <ol
& fefe suge © 2

s

A s, o, ey

(2) e, Tev, wigamd
B) T, FEET 9, rEw
(4) wieard, 7o,

76.

77.

78.

The value of produCt
(3 %J (9_%+22}att=115

(1) 140

(2 152

(3) 150

(4) 148

The HCF and LCM of two numbers are
10 and 840 respectively. If one number is

120, the other number is :
1) 70
2) 50
3) 90
(4) 60

The given Venn diagram is suitable to
represent the groups of :

(I) Teachers, Students, Clerks
(2)  Teachers, Men, Women
(3)  Men, Workers, Writers

(4) Women, Mothers, Nurses
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79,

80.

81.

T 39 o A fem waw: 3 8
42, 3 5 AR, § ) foren = TF 3 T
T T | g e 1 g A €

(1) 96 =t A,

(2 216 =t A,

3) 150 o Q..
‘(}r 384 =1 H.,

4 TR 1 1 7 AT ! B g T135 €1 | 80,

HTH & T HY 1 Yod 919 F T F9 & e
1A 1 2 W 9 a1 U ATl HH! F
'ﬂ?“?%:

S 230
@ 215
@) 235

@) ¥3750

feT M foedi & @ 7 Wt fawew gfm S | 81

HE-ITTRT 1 T HAM |

PAZ, PBY, PCX,PDW, _ ? .

79, Three solid cubes whose edges are 3 cm,

I

4 cm, and 5 cm respectively are melted to
form a single solid cube. The surface area

of the new cube is :
(1) 96 cm?

?) 216 cm?

(3) 150 cm?

(4) 384 cm?2

The price of 4 cups of tea and 7 cups of
coffee is ¥ 135. The price of a cup of coffee
is double that of a cup of tea. The price of
2 cups of tea and one cup of coffee is :

(1) %30
2 215
B) 35

@) T37.50

Choose the correct alternative from the

given ones which will complete the letter
series.

PAZ, PBY, PCX, PDW, 2

(1) PEV
2) PRV (2) PRV
(3) PBY (3) PBY
(4) PFU (4) PFU
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The average age of Mohan, Karim and

gy, e, Tl Ao S T sher g 27 wd ¥ | 82
gq'a'ﬁfﬁ'ﬁ AYHFIATNT2:3:4 %) v 3l George is 27 years and ratio of their age is
0™ @ 3G H AW t: 7 :3: 4. The difference between the age of
George and Karim is :
@ 10 ad (1) 10 years
@ 9 ad (2) 9years
/(3( 12 T4 (3) 12years
@ 8% (4) 8years
83. WA ¥ NFAT H AU :125 €| THEA | 83. Two cubes have volumes in the ratio of
FFATOA &Ret 1 THL B o 61 S 1:125. The ratio of total surface area of the
EARCRRIG g faces of one cube to that of other is :
1) 1:25 1 1:25
| e 1:5 @ 1:5
() 1:20 () 1:20
@ 1:10 @ 1:10
& //l
84. o < qad qufei & wem 113 AMIR? 84. Between which two consecutive whole
number does /113 lie ?
(1) 104=11 (1) 10and11
L o @ 7and8
(3) 8duw9 (3) 8and9
@ ST (4) 9and10
S
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A man is 6 years older than his wife. The

85. UH g #t | 85. )
ﬂ'ﬂm :;ﬁﬁw ﬂ:?:;;;'?l A wife is thrice as old as her daughter who is
AT 3 9 SN at present 9 years old. How old was the
¥ Wy b war man when his daughter was born ?
1) 2 (1) 23 years
@) 2599 (2) 25years
\ﬂ’)/ 24 (3) 24 years
@) 20%§ (4) 29years
86. A axb=2(a+b), A 2%(3+4) =" 86. If a*b=2(a+Db), then 2%(3*4)=?
(1 18 (1 18
(2 32 @ 32
Vj;)’ 28 3 28
4 24 4) 24
87. U &N H B Y12 3 F AN FD4 1 | 87. In an examination some questions carry
F 2'-‘] | TH BF A 15 TH 3"?? B HTh 2 marks each and some others carry
40 37 e fFd | 3?'2513{91 2 3! At foraA 4 marks each. A student scored 40 marks
3y 3l & foRd 94 by attempting 15 questions correct in all.
How many questions carrying 2 marks did
he attempt ?
1 12 1) 12
@ 5 @ 5
@ 8 3) 8
J;j 10 4) 10
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89.

o wfEr 1 e 31 fe3 & g, @ A
Wwﬁaﬁmmaﬁa’rm?

(1)

@ BIET

@ l6TEw

ﬂ 17 arr@ &

wEEA S @I A A A qM B HIW Y
FAW: 10 3 31X 16 & A R | 3 A & A
qHH q ©H g2

(1) 274214

&

@ 27494

A 28 G, 22 &

@) 264 114

8. A particular month has 5 Saturdays. The
Jast day of the month is also Saturday. The
number of days in the month is 31. Then
the third Saturday would be on which date

of that month ?

(1) 18t of the month

) 15th of the month

(3) 16th of the month

4) 17th of the month

89. In a line of 37 persons, A and B stand at
10 and 16t ranks respectively from the
top. What are their ranks from the
bottom ?

() 2%

() 27th! gth

(3) 28th,2ond

4) 26t 11th
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90. Which of the following figures completes
90. 4 -+ mmmmﬁw the given Matrix ?
F L2 | I
DIl A D[] A
? i 1O
1O\ i
0 @ 2 @
. A SA
® A ® ﬁ
o A\ o A\
91. =1 gvit =t quf Fifg 91.  Complete the following series
12, 26, 55, 114, 233, : 12, 26,55, 114, 233,
1) 474 1) 474
(2) 466 (2) 466 |
() 470 @) 470 |
AT 7 @ 47
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gp Froa @ @ ¥ STHR o, g, ey 35
£ o1 &t &2

U
» QD

93, IR A:B=3:4TMB:C=6:11,WC: A
'FIT'T%:
1 7:11
J) 11:5
3) 8:15
@4 22:9

94. T TEfHe FaR 4 fereft ST T AR Tereh
7 T 2 = ¥ 3R R 6 foredt =t €1
I aC T8 Ml (45°) T qoR 5 fehedl
TN Y| e STH gl SRfEva forg A et

92. Which of the following diagrams explain

93.

94.

the relationship among Fathers, Men and
Uncles ?

» O

IfA:B=3:4and B:C=6:11thenC:Ais
equal to :

1) 7:11

@) 11:5

(3 8:15

4 22:9

A cyclist moves 4 kms towards North and
turns to his right. After moving 6 kms,
turns half-right and then moves 5 kms.
How far is he now from his starting

2?2 point ?
LY 8 fait (1) 8km
) 15 et (2) 15km
@) 11 fwedt (3) 11km
(4) ofet 4) 9km
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95. 27 Q.. =l 8 A A 1A A TR | 95 A metal sheet 27 cm long, 8 cm broad and

F M B R v v g | 59 T 1 cm thick is melted to form a cube. The
F1 IS e surface area of the cube is :
1 297 (1) 294 cm?
(2 150 =f ¥ 7, (2) 150 cm?
(3) 384T A, (3) 384cm?
y 216 1 A.A. 4) 216 cm?

96. fRU Ty famedi ¥ @ wafuq smsfa IFT: | 96, Select the related figure from the given

alternatives :

QAT | ST
NG
o A\
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g, QA ¥ ST F1 TN 1:8 %1 o A A
WT@“*““‘F‘WW}W%wW
ArFe % TIE B
(1) 1:8
ﬂ 1:4

(3) 1:2

@) 1:16

08, 39 AP A AU AT AT A i &

(1)

97.

98.

Two cubes have volumes in the ratio of
1 : 8. The ratio of the total surface area of
faces of one to that of the other is:

1 1:8
2 1:4
(3) 1:2

@ 1:16

Select the figure which is different from the
other three :

(1)

) i 2 i
P (3) ; \
(4) (4) ;
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9. R WEmH &1 gy g A I
FHEE W 20 qur 240 §1 3R T WS
60#‘@#@1‘[%: |

™ %0
Vg 40
@ 80

4) 120

99. The HCF and LCM of two numbers are
20 and 240 respectively. If one number is
60, the other number is :

1 9
2) 40
(3) 80
@) 120

100. TF 39 1 QA e Yol 3a2-6ab @91 [ 100. Two adjacent sides of a rectangle are
2a2+b2 B | T IFEM § 3a?—6ab and 2a2+b?. Its perimeter is :
(1) 8a2+2b2-10ab (1) 8a?+2b2-10ab
(2) 5a2+b2-6ab (2) 5a2+b2-6ab
y)/ 2a2+2b2—6ab (3) 2a2+2b2—6ab
(4) 10a2—12ab+2b2 (4) 10a2=12ab+2b?
101. TF YT 1 QX 4T p2-2p+1 9971 | 101 Two sides of a triangle are p2—2p +1 and
3p?—5p+3 €| FHHI URAT 6p2—4p +9 | 3p?-5p+3 and its perimeter is
THH! JAT N 6p2—4p+9. Its third side is :
(1) 5p2-5p+9 (1) 5p2-5p+9
(2) 2p?+3p+5 ) 2p*+3p+5
9/ 8p2+11p—7 3) 8p2+1lp-7
4) 3p%+5p—4 (4) 3p?+5p-—4
102. ST H JATRN T T A i & . 102. Select the number which is different from
other three :
(1) 63 1) 63
@ 2 @ 2
@) 9 @) 9
w8 4 28
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103. feu T faedl ¥ @ 9% TE fawey Hfu it | 103. Choose the correct alternative from the

Em-FTHFA B I FOM | given ones which will complete the number
- series.
1,23 149 2,827 123149 . ¢ 837
1 4 1 4
’9}‘ 1 @ 1
@ 2 3 2
4 3 4) 3

104, st 318l ATRS %1 W4 & fohed i | 104. How many meaningful words may be

I T 1 TR 8, AT T A& 1 WA O formed by using the letters ATRS, using
TREA? each letter only once ?
@ 5 1) 5
J;,)/' 2 RN 2
@ 3 @3 3
4 4 4) 4

105. U 3 & Y HI0 H1 I 1:2 81 S | 105. Two angles of a triangle are in the ratio of

F g FI0 I A FOH F A F gEA B 1:2. The third angle is equal to sum of
ECCEIR TR R these two, then the third angle is :
@30 () 30
2) 80 2) 80
3) 60 (3) 60
4 9 4) 9
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106. < T ampa F frek v § 2

1 16
2 6
@ 9

4) 12

107. 3fE 480 &1 p% +400 F1 10% =160, T p

IR
(1) 30
(2) 25

Vm'zo

@) 10

108. feu 7T fowedl 94 € w=ifud gen g

7fg 13 : 156 3R 17:272, @ 27:7?

\

106. How many triangles are there in the given

107.

108. Select the related number from the given

figure ?

If p% of 480 +10% of-400 =160, then value
ofpis:

1) 30
@ 25
3) 20

@ 10

alternatives. If 13 : 156 and 17 : 272 then
277

M 729 (1) 729
(2) 600 (2) 600
L) 702 @) 702
4) 726 @) 726 |
|
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g e & S H B3I 35 41
&) e & FER TG RO Y )

a 8
‘},) 120°
@
) 100°

0. 3 e F 1A TG 24 TN R T TR a7y
w1 aqaa 3:4:5 g T a9 eF W

AR :
m BT
@ 3o

@r u
(4 187

111. frefafed 4 @ S8 fRaram faam 3R
uTT ST F TaTaH GgE Y i Yereid il 2

(1) foenfiai @ e i o fonelt Sifees foa
R & fey fod

2 ATIERY S GINTe & 3evd ¥ U AU
8 YA & el F R T A

ferenfefai } v forga iR SR aream
@) = = % fr 3 Wi et
R Ty
) T S 3 forg g e
R T B B 1 i e

109. Two angles of a triangle are in the ratio of

110.

111.

3:5. The third angle is double the greater
of the two given angles. The greatest angle
of triangle is :

(1) 80°
@ 120°
@) 90°

4) 100°

The average age of 3 boys is 24 years and
their ages are in the ratio of 3:4: 5, the age
of the oldest boy is :

(1) 28years

(2) 30 years

(3) 24 years

(4) 18 years

Which of the following activities would
best correlate science with language

learning ?

(1)  Asking students to write an essay on
some scientific topic

(2) Arranging field visits for an
exhaustive exploration of the
environment and asking students to
write the report there of

(3) Asking students to remember
technical terms perfectly

(4) Organizing a refresher course on
science for language teachers
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112

113.

Frefafaa § 4 st fagin i e &
<X 3 eyt il & 2

Teitferaran 1 fagia
T =1 fagia
farmm =1 fagi
@fswan =1 fagi

Hfam 3 form Wi & SER g STeTHETh
i Y, =R A eped R aqere ST O M B,
AT TR e deard it FE 3R
Ih1 HAH FA FT AfHER E ?

112.

113.

Which one of the following is not the '
principle of philosophy of Fredrick
Froebel ?

1)

The principle of supernaturalism

(2) The Law of unity
(3) The principle of development
(4)  The principle of Self - Activity

According to which constitutional
provision, all minorities whether based on
religion or language, have the right to
establish and administer educational |
institutions of their choice ?

w ST 46 (1)  Article 46
Q) DT 29 (2) Article 29 |
3) STTT 28 (3) Article 28
@ ST I5 (4)  Article 15 |
114. frafafead @ Q'{iﬁ 'Hafﬁﬁl? Tl faf SAE | 114, Which of the following is the most effective
£ o wam =3t & Ao ged o fawmd way to help children develop social |
FA F fora 51 9 ? values ?
(1) T3t A Fefa san e (1)  Reciting good moral stories
) 3%11141’@[ &R EiFd gedi SR Smgenaii (2) Disciplining them in mores and
 arenfed values that the society recognizes
y AEAYH R YA 3= ) 79 FHFR (3) Presentin : i
‘ g one’s own behaviour as a
A L AR I (TR) W wF yiaey model for them ‘
m. ]
4 " . a’r . .
4) SEWH Eﬂ_?‘ﬁm} forwa & warn (4)  Telling them about great people
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115, TF TR F SRR (SE) R s
farra & g1 € oI 7% T3l %t wad 1A A
o #1 3l 7w T T A T G # in
N ehel ¥ | ITR TR Whihand ey weraii
W ufd €1 9% = 3T ust ghemsi w

=1 TSt gR wfafed Harrerss forsrg fagiq
fipd TR W R ?

(1) ‘?ﬂﬁrﬁﬁmm@n
(@) FA SeTE e
@) T HiHarHE Tawen

116. F=fafaa 7 & staw fawm #1 fagi@
w2
(1) |t = F faHE F R TF gHE TR
Bl §

\pfﬁm!ﬁam@m%
(3) form weh aq wisrar @
(4) form ot gt wfrand wom o€ g @

117. frafafeq & @ form fenfag 3 9ra o =
F1 foren & w2t fiven faferdi & werem § v
eyl yfiepr fur ?

(1) i Vs
S wifesier g
(4) e e
@) whae

115. A child has developed the ability to
conserve and can arrange things from
smallest to largest and vice-versa. The
thought processes are directed to real
events observed by the child. The child can
perform rather complex operations on
problems as long as the problems are not
abstract. The child is at which one of the
following stage of Piaget's Theory of
Cognitive Development ?

(1) Formal operational stage
(2) Sensorimotor stage

(3) Preoperational stage

(4) Concrete operational stage

116. Which of the following is not a principle of

development ?

(1) Development does not proceed at the
same pace for all children

(2)  Development is always linear
(3)  Developmentis a continuous process

(4)  All processes of development are
interconnected

117. Which of the following educationists
played a significant role in introducing
Montessori education methods to children
in India ?

(1)
)

(3)  Gijubhai Badheka

Rohit Dhankar

Savitribai Phule

(4)  Annie Besant

‘N.__-_.-__
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118, Frefrfian 2 2 we ey § frd fifz 7 3 | 118, Which of the following 12 considered as
: T

Magna Carta of Indian education during
ﬂ mﬁ:n ::mm(wm s coljnial rule ? |
(1) & 3mEam (1) Hunter Commission
2 Wl amEm (2) Sargent's Commission
3 Feqfeom (3) Wood’s Dispatch
i el fire (4) Macaulay’s minutes

119. foret e 9R ¥ atfusin 9=3 79! FHEl H | 119. Majority of the students of class IV avoids

forerm gfiedie o= & e T T Tl the company of a visually challenged child -

¥ Ut sreen § & gfeda a= S 9 in their class. Which of the following needs

A Hi Yfd § e © e ? of the visually challenged child would not
be met successfully ?

@ RTferT e (1) Physiological

2 W (2) Safety

JP) ST (3) Esteem
(4) wEESE ) (4) Belongingness

120. frefafaa § & foa Seifte foamRum & @190 | 120. With which one of the following
i AT a7 379 AT F 1 ﬂ%‘ g2 philosophical schools of thought the names

Carl Rogers and Abraham Maslow are
associated ?

(1) HHEER (1) Humanism
Q) NEYaR (2) Idealism
@) vFfER (3) Naturalism
yY ERISEE (4) Pragmatism
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121. gt FgE, St w0 A B svafy & s
F{ god Y 30H 7=} 39 Huw oin
areroratt 3and ot TEd ¥ a7 = H
AT 3 F e H e ) wsh A
mmmﬂmag@mmﬁ
T T T, 7 7 i o
TeRIT et €1 % g% oft e & o )
R TR Afugha &1 @ ot 331 o & qurf
Iq1 favard ® i sraemen angd atfirm i
RO * Yfd SWefra |y =1 faF™
W AN | AR Al FR Fwn GeeE H
foa et 1 s W @ E?

W it
(2) IR
(3) TERE!

4 SIw

122. Wrfus faee W W @A-$3 o= @l 59

YR TEEA AW efh_ |

0% 9= Gedl Tl WIEAl, A9l a9
Ui FE G sl

) % s Weiesh o 3R 3T FrEl A
el @l

@) % frelt oft s  wwea gitfiea

I T FH

(4) TR YHR FI hI F qaAragid €@
it

121.

122,

Mrs. Kapur, a teacher of class Il wants her
students to enjoy school. She makes few
academic or behavioural demands on
them. She believes in the importance of
giving students autonomy. In her
interaction with students, she tries hard to
be a good listener, to emphathize, and to
show warmth and affection. She knows
that students sometimes take advantage of
her, but believes that students will
eventually develop a sense of
responsibility for their own learning and

behaviour.

Which of the classroom management style
is she practising ?

(1) Democratic
(2)  Authorative
(3) Authoritarian
Permissive

@

Games and sports at the elementary school
level help students to :

(1) learn cooperation, fairness and
negotiation

(2) be more competitive and exact in
their tasks
)

ensure success at any cost

4)

learn basic rules of all sports

S/Page 35

% @14 & foT sg / SPACE FOR ROUGH WORK

PKJ 17-11

@ Teachingninja.in


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


123. 3R A snarae s frenfeldl ¥ fAQ g
IR myifia s - sty ST ) ST
T A way Frafafaa # @ FE w0
WA T 22

(1) S ¥ g=e¥e Hiewm e wfee aifh
foreneft oty w1 w%

firvaraeg ol deifired 3 s M
T Bt =fe

(@) foenfefal A Syerey omd @A, Iy
1 Y4 FA ®1 drvar a4 =R

(4) TEE 2. Iyl % Aream A frenfef
S AT M 1 Geish G & Hream
QB =Y

124. Frefafas 9 @ 5@ $o7 frdt fgg &
A F TH 98 & &7 § 9dl § gaifig
e A

(1) SRYA HwIfea Swafes & ame faig A &
Y S e qen w2 ¥
G) ¥ fawa-ag % W ¥ o e

WoH 1 &

(4) ﬁwwmmaﬁ%

123. Which one of the following is irrelevay,
when a teacher desires to adopt ICT basey
teaching-learning approach g,

students ?

(1)  There should be internet connection
available so that students cap

explore

(2) There must be compatibility between
content and technology

(3) The students must be able to use
available ICT devices

(4) The knowledge of students gained
through ICT devices must be assured
In examinations

124.  Which one of the following does not pertain

to objectives as an aspect of teaching some
subject ?

(1)  Objectives are end points of possible
achievement

(2) Objectives are immediate and
attainable goals

(3)  Objectives Provide frame of reference
for selection of content

(4)  Objectives are broad angq genera]
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125, wwe guAYA ¥ Frefafan § § fgg @ | 125, Successful inclusion requires all except :

e Té ot ¥ 2
) =t famdt yfs ) e A # (1) Appropriate techniques and
o 39gea qwte qen wfafual procedures for monitoring individual
student progress

(2) IEUF T= F Afipg Frsafadl & (2) Teachers accept responsibility for the
T 1 T F:¥ learning outcomes of students

59/ AR ¥ Y19 98 g R HyaA & A (3) Teachers have the knowledge and

skills needed to select and adapt

Tl it fera st % FTER
o=t iR feror fafudl & 994 9 curricula and instructional methods
TRfEE A F fag HEYTF TR according to individual student’s
€ needs
@) T wuieE A aftEaw St sAferTd (4) A competitive learning environment
ST T BIHY Il & that focusses on individual's
achievement

126. T foeneff Fan ¥ sreATas | TH ¥ (BT | 126, A teacher rebukes a student for his asking

W SreATge ST g H T qEargel 99 € SR a question which the teacher considers as
HATYF IY 9= FI S A& | TLATTH % T silly. Observing this, the other students
aer 4 99 faenedf fue € 91 € o ww become reluctant to ask questions. This
TS € ag A o § | U frufa @ Frefefaa situation is an example of :
A T HJ q R B2
(1) G gE MY facilitating effect
(2) whafafyes <5 (2) vicarious punishment
(3) en-wy Hfaemar (3) classroom ethics
4
4) e YA (4) self reinforcement
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127. %15 3 farenfefal 3 @ o1 Werd 9@ D A
& e 3 2w fove
(@) = =t T AR R 2
(b) TH o @ =R

T TR FF A T S A & T
Heiftra fra 39l ) ATad €2

(1) () I T (b) HEAT
) (a) T T (b) TH F T
(B) (a) T9H AU (b) WIATT

(4) () 5 A1 (b) T T

128. & TG 1 Tah 1eATae forenfofai & e wem
finftan iR geiell 7 amisre i s@Emon @
faam % o s=ii 1 w yfir s 0@
& faq wedt 31 9% foau ffafea o @
I IR 3F few fr sfia i
e fruifa 0 o wees @ 2

Jlf)/ qur9-fafa

\'\

(2) ™R WO 1 WeTER
(B) wE

4) 73 Frefor oo

S/Page 38

127. After teaching the concept of square to
Class V students, a teacher asked students
the following two questions :

(a) What is the definition of a square ?

(b) Draw a square.

Identify the level of cognitive development,
the two questions intend to measure ?

(1) (a) Knowledge (b) Synthesis
(2) (a) Knowledge (b) Application
(3) (a) Understanding (b) Synthesis

y/‘ (a) Understanding (b) Application

128. A class V teacher directs students to a role
play to introduce the concept of
interdependence and harmony in
relationships. Which of the following
instruments would help him/her

determine the quality of role play by
students ?

(1)  Socio-metry
(2) Face-to-face interview
()  Questionnaire

(4)  Rating scale
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129. G doron < e dlw W sonfum & o9
faenfeiai | Wfars suetfsr aon wmnfas sraen
Tt I amend vt ¥1 IEF SR TE
Te=qol ® fa e w01 wfdw S A, wedited
afﬁW‘éamaa’fﬁwmaﬁ%uﬁ
FATHIE B 1 33 foremdl & e gg & wig A
Haeft el w51 qartyr 23 dvgr wa ot €
S forvars  fif st faneft frami &1 Seaed
& A 3= s firer =y vy e T w0 A

ey

FARY I ey I & Ry et H e
wA §?

=l & Sl 3fea & wig ) sramif WA A

129.

Ms. Shailja, a teacher of class V has high
expectations from her students in terms of
both and
social-personal behaviour. She believes
that it is important to create a warm,
supportive classroom environment that is
sensitive to student’s needs. She is firm but

academic achievement

takes time to provide rationale for various
classroom rules. She believes that there
must be consequences when students
violate the rules but she tries to invoke
penalties that are fair and that don’t
humiliate students.

Which of the classroom management style

is she practising ?

1) ey (1) Laissez - faire
) uaER ..(Zf Authoritarian
() (3)  Permissive
(@) I HED (4) Authoritative
130. FE-EATH F T FeAGE <@l 8, fF | 130, After teaching, a teacher finds that a student
e faemnet s gemafiya ey faa @@ g, is able to write a well organised theme, a
Teh oI oy &, t{&a‘ljﬁﬁlﬁﬁ A creative short story and can give a well
2 gehal & 3R T T FI FSE1 IR T organised speech and proposes a plan for
Fa ¢ | 7e faenedt fafys a& | 3 e ‘experiment. Student can integrate learning
! fordt gwen & guYH & fag gufed &t from different areas into a plan for solving
AR a problem.
areaTa: i gfie @ 39 faenef 3 Hferw i Then on the part of the teacher, at which
¥ forg W &t wra = fean § 2 one of the following levels of the
educational objectives have been achieved
in behavioural terms ?
(1) YA &R (1) Synthesis
£2) TEF T SIYER (2) Comprehension
(B) IFIFEM T (3)  Application
4) fovemo =R (4)  Analysis
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131. T famm w1 e v g 2

(1)

@)

3)

4

F51 F 3R A W O H AAED
o

el STt sjaen o @ s A
¥F Wiy g sraafEa I ©

W FrEl F oft i ol F@ & AU
o W S iR #

A9 W & = faar) iR wast &
g e a=3 3 anren favarwm ffan @

132. forareeh vy & Heyf § frfafigd ® @ ®Fw

U W T ¢ ?

(1) 9% Frepd STeReTs Ul =i Ve |
B E

(2) THHANICA FHE A Ygiadi § Bl
€

K% T HELT FTH! ATSH Bl &

(4{ THF! Gy e, famfefai o Heenai

 F Ariae gl 9 @

133. f=ifera & @ et faw sya 4 &89 o
IR YRadT Hi g9t 2 ?
(1) Hfqaon
(2) wisfem
3)
@) vt

131

132,

133.

Zone of proximal development is :

(1) Mental representation of the external
world on the part of the child

(2) Series of actions in which a child
undergoes social interactions with

peers

e of tasks that a child is in the

(3) Rang
ete

process of learning to compl

(4) Sum of own conscious thoughts and
feelings introspected by child

With respectto Action Research, which one

of the following is incorrect ?

(1)  Tts conclusions are in the form of

remedial measures

(2) It contributes to classroom teaching

practices
(3) Its scope is very wide

(4) Tt is concerned with immediate
problems faced by the teachers/
students/institutions

Which of the fo[lowing describes the

change in an individual’s behaviour arising
from experience ?

_&l)/ Motivati()n
() Modelling
@) Learning

(4) PerceptiOn

S/Page 40
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134, yriegEs ¥ Aagar Afm w1 wEifus 1o
&Y F1 917

(1) wEA A

(2 e sfmm
() v iR AR At
(4) ey AT

135. sty wrawrat @, 2005 ¥ frio § frerfafad
Y § $g& i HiE o6t ?

1 wHAL

ﬁ/ L IR A

@) gt
4) WHTEE

136. et faeneff A wF faf¥e YR &1 HGER

134.

135.

136.

For Thorndike, the most basic form of

learning was

(1) Vicarious learning

(2) Social learning

(3) Trial and error learning

(4) Observational learning

Which one of the following was the nodal
agency for framing National Curriculum
Framework, 2005 7

(1) National Council for Teacher
Education

(2) National Council of Educational
Research and Training

(3) University Grants Commission

(4) Central
Education

Board of Secondary

A verbal or nonverbal prompt or signal

wefiia w0 sryan fardt arfea sAaer 1 UfER given by the teacher when the students
HT ¥ forg TR0 H ¥ e g feu e need to be reminded to behave in a certain
v 31l R-vnfs Tohd =l 31 Shel 9Tl way or to refrain from behaving in a certain
- way is termed as a/an :
(1) IAF (1) stimulus
(2 (%) (2) cue

& eame (3) incentive
(4) YucR (4) reinforcer
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137. anwmaﬁmﬂ;
Tt & frefifiga § | a1 6T €

M) TduE wan @t srEem
(2) foenfa 1 dammHS W
(3) wdam A
(4) fvifa stva

138. frfafas & @ St geen span =l &
3 S arett Qanadi F1 fafrmma qun wifrefon
A R ?

Yy <% e i a fawm @ g
T

(2) IS QRan ULy Her
(3) R ety gfiwe
4) U¥EgEE T

139. e § e SAfermy ghifved w0 % daof o

freferfad & & siar o s 32
(1) 37eAms 98 Gifv=a =i i fommeff ergt
A9t fa @ dhas ° gem §

,(z)/aawwqﬁrﬁwaﬁﬁm
ﬁﬁm&ﬁ!ﬁmﬁ%—%ﬁ%ﬁwﬁﬁw
@l ST

(3) w1 d wHeH TR @ A s
wifd | ve @&

@) = % St = g % fawa 4
% T WY wa 7 v

137. With respect to the prese

138.

139.

ntation of conteny

i ne of
in a subject by a teacheT, which one of the

9
following is irrelevant !

itions
(1) existing classroom condi

(2) cognitive Jevel of students

(3) scheme of examination

(4) identified objectives

Which amongst the following regulates an;i1l

monitors services given to persons wit

disability ?

(1) National Institute of Public
Cooperation and Child Development

(2) National Institute of Social Defence

(3) Rehabilitation Council of India

(4) National Book Trust

To ensure effective learning in classroom,
which one of the following is irrelevant ?

(1)  The teacher should ensure that the

students are able to learn at their own
paces

(2)  The teacher should ensure that
information to pe learned is
Presented in sma]] steps

() There should pe pin-

the class so that the te
undisturbedly

drop silence in
acher may teach
(4) The Students shoylq be given
Immediate feedback concernjng the
accuracy of thejr learning
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140. ‘Wt @ a=l % 7 &' - P wedwem @ | 140. “Play is children’s work’ was postulated by

or? which of the following ?
A (1) Dewey
‘/(02)( w4l (2) Rousseau
g)/ b aC | €) Froebel
) w=Ed (4) Montessori
141. fagm feredl & waq 3iv =9 qedisd % AR | 141. According 1o Co?‘\tin.uou"s and
FH ¥ FH FS TAHS Jodihd H1 IER Comprehensive Ijivaluatxon in Sciences at
fr=fafaa § 9 =@ o =ifew ? least some formative assessments should be-
based on :
(1) R ¥ ufEs s (1) project work in groups
(2) Ha S (2)  conversation skills
By WEnTeIeT fshamehemy qe war (3) experiments and lab activities
(4) G B (4)  writing skills

142. T W% T3 %1 {0 907 & U996, A9 | 142, After preparing a question paper, a teacher

g A1 ATl & foh 7 3a 3 fafvre arfinm
IV T TGO & TN A IG USTHT
fo fruffea fovg Mo 91 FawRY 9% seaTTS

checks whether the question paper tests the
specific learning objectives planned for the
course. The teacher is concerned with

frefafes 4 @ fifrgd dog 872 which of the following ?

(1) wiem it segfsea (1)  Objectivity of the test

(2) et A (2) Validity of the test

(@) T 3 v (3) Reliability of the test

(4) fawawg #1 fowm (4) Content coverage
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143, frerfofaa o ag e greifen faarama # | 143. Which one of the following philosophical
fora® sraR Wifrs a0 arefasa €, schools of thought is of the view that the
T iR srrsftaufell # a@E & 9fd physical universe is a reality, man like other
e Fom aifeq) sifae amEc Hifa animals must adapt to the environment.
BT 81 3neaTaw @ fRdt YRR H TR a= Material environment is limited. Any
¥ forg wfvaR & iR om: Sud fawd d intervention of the teacher is harmful to the
50 WHR ¥ ggE, FvA svar gWad & child and his/her development should be
FE WE TR A R ? unchecked by any kind of suggestion or

guidance ?
(1) 3eYER (1) idealism
M ERIEEC I (2) pragmatism
(3) HHEER (3) humanism
4) HfaaR (4) naturalism
144. Trevifeha & @ et o frenfeai #1 defo | 144. Which of the following factors would help
SucIfed] 39 FHTH H TerIH et l students improve their academic

performance ?

(a) fsafd &1 IR-aIR iR (a)

Frequent evaluation of performance

(b) Foerr-foenelt & 7e7 vers ey (b)  Positive teacher student relationships
() Trere & frers-amar-fuar guds (c)  Close teacher parent interactions
(d) 3= T W I FTE (d) Instruction at a higher level
M @M M (2)and ()
@ () 3R () @  (b)and (d)
) (a) 3R (d) () (a)and (d)
@) @ (b)and (g
S/Page 4
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145. sropam aygen sTffed WM SN ferenfordy =)
faemera o yra R ¥ Frafafas 4 @ s
Yrageai wean ¢

1) Fefem mea=a
_ﬁ?" gﬁﬁaﬂqmaﬂf
3) =34 1 T4 eTadi
(:1)/ qfea TreT=at

146. Haufys yaum & T 1§ fnen = fFfafas

# Q fow F T TN d?
(1)
(2) e
(3) T

&/maa"-f;ﬁa

147. 994l & Ged # frafafes 8 4 $i9ar sye
el 7 72
(1) 9rSI=d YT Bt &

(2) Tl w1 wEY 3§ IR Yede A
¢ < foreht Sifrer ween & werd st &
wrerat fafie sremrst & fag
fir-fim ot §

(4) Tl & S g

145.

146.

147.

N R -

The unspoken or implicit academic, social
and cultural that are
communicated to students while they are

messages

in school constitute :

(1) spiral curriculum
(2) explicit curriculum
(3) hidden curriculum
integrated curriculum

4)

With respect to the constitutional
provisions, education is the subject of :

(1)  Union list

(2)  Central list

(3) State list

(4) Concurrent list

Which one of the following is incorrect

about curriculum ?

(1)  curriculum is prescriptive in nature

(2) curriculum refers to the overall
content which is to be taught in an
educational institution

(3) curriculum varies from teacher to
teacher

(4)  curriculum has a wider scope
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148. In the context of Skinner learning Theory,

“ :‘T’*'“ ﬁq;::::: gﬁ%ﬂ"ﬁ‘g{ % to control behaviour one should control :
D (1) response
o - (2) performance
\((;){ :';mq (3) punishment
__(Q EEEE (4) reinforcement

is unit, the
I : ‘T TR & PO AR iective : At the end of this .
i k wr frenedl F@ | 149. The objective : _
e : students would be able to summarize the

1 A TS ) A YS T A W puomecee 58
bkl main events of a story 1n gr ml.lhla )
::m AT 3279 § Heifua € 7 correct language, belongs‘ to which o
following levels of cognition ?
(1) T (1) Evaluation
@) | e (2) Comprehension
) T T (3) Application
() e (4) Synthesis

150. 3C¥ % FUA F eI S T T, | 150, The behavioural terms for stating objectives
W @, Ao 5, o, FrRifa w, like change, compute, demonstrate,

discover, manipulate, modify, operate,
HYA FI, TR B, Heel 5, feam, g

predict, prepare, relate, show, solve etc.

w1 3fs Frefafaa 3 @ frg ot @ e pertain to which one of the following
%2 categories ?
(1) Y (1)  Evaluation
(2 v (2)  Application
(@) fawem 3 Analysis
(4) S (4)  Synthesis
=00o- e
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